! | i'J__Irl @m l 'ﬁ’) tre brak, ordningsfoljd med parenteser

namn: Datum: Poéng:
16 24 33 2
— +—)+8 = —(=+=)=
(3 5) 8 5(5 5
(1+1)+2= C-L 3o
2 25
2 1 3 3
37373 G727
2 3 1 3 3 1
—_— = —_ = —_ 4+ — —_ =
37973 (37373
3 1 12 1
—_(— + =) = (— — =) =
4( 3 4(3 6)
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! | i'J__Irl @m l 'ﬁ’) tre brak, ordningsfoljd med parenteser

namn: Datum: Poéng:
16 24 19 4 33 23
—+ —=)+=8=—==1— —(=+-=)==
(T8 3715 551373
(1+D+2=1 C-L3l3
2 2275 5
2 1. 3 1 3 3
3739%373 (3737370
2 3 1 7 3 3.1 2
—_— = —_ = (—— —_ 4 — —_ = =
G 27 Cx) 3+3)*373
32 1. 3 12 1. 1
—_(—= + =) = — —_(—= — =) = —
1637373 137673
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